29th August

Foundation Plus 5-a-day

Write 4cm3 in mm3

o

CorbettmoOtths

The population of Wigan in 2001 was
301,500.

In 2018, the population was 326,100.
Calculate the percentage increase.

Give your answer correct to one decimal
place.
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Find the length of AD

Work out the area of quadrilateral
ABCD.

Box A and Box B have an equal ratio of
red and yellow counters.

In Box A, there are 16 red and 36 yellow
counters.

In Box B, there are 455 counters
altogether

How many red counters are there
altogether in Box A and Box B?
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